Name: Date:

> Chapter 6: Multiplication

1. Calculate each product.

a)6x2=___ g)5XxX7=
b)5x5=_ h) 6 X6 =
c)3xX6=___ H6X4=
d4xdé=__ ___ _ jJ6x8=
e)3x7=__ K)7X9=
fax7=__ )9x8=
2. Calculate.
w) a) 7x10=__— g) 3 x 100 = 0
i b) 7X60=_____ h) 7 X 100 =
| ) 4xe0=_ i) 9 x 500 =
3 d)50x8=___ ) 700 X 7 =
e)30x9=___ k) 300 X 8 =
*2 fao0x8=_ I) 600 X 2 =

[ 10 | Revicw of Essential Skills: Chapter 6 Capyright © 2008 Nelson Education Ltd.




Name: Date:

Exploring Multiplication P

*

Use your own strategies to solve everyday matﬂ

problems.

1. Circle the problem that can be solved using At-Home Help:
multiplication. Multiplication involves groups
A. Matt read 22 pages on Monday, 29 pages of the same size.
on Tuesday, and 27 pages on Thursday. 4 X 28 is 4 groups of 28
How many pages did he read altogether? objects.
B. Diane read on Monday, Tuesday, and Thursday. | 28 x 4 is 28 groups of
She read 31 pages each day. 4 objects. It has the same
How many pages did she read altogether? Pr oduct as 4 X 28. )
C. Jade read 96 pages in total on Monday,
Tuesday, and Thursday. i
How many pages did she read each day? v
D. Cole read 37 pages on Monday. Lang read
29 pages on Monday.
How many more pages did Cole read than Lang?
Explain how you know this problem can be solved using
multiplication.
2. Solve the problem you circled in Question 1.
3. Emily, Kate, Hailey, and Annie each have $22.
How much money do the 4 girls have altogether?

Copyright © 2008 by Nelson Education Ltd. Chapter 9: Multiplying Multi-Digit Numbers 83



| Name: Date:

. €sson . Multiplying 10s and 100s
Use patterns to multiply 10s and 100s. j
1. Multiply.
a) 4x1= b) 4x2= C€) 4X5=
4X10= 4 X 20 = 4 X 50 =
4 X100 = 4 X 200 = 4 X 500 =
2. Multiply.

a) 5x10= e) 2 X200 = i) 7x300=
b) 60 x 3 = f) 9x30= ) 0x4=

/> <) 8x100 = g) 500X5=__ k) 10x6= 9
d) 70 x4 = h) 40 x 6 = I) 4x800=

3. Kate found four $100 bills.
How much money did she find?

4. Lang is building a model of the school using blocks.
He bought 8 sets of 30 blocks.
How many blocks does he have in total?

84 Nelson Math Focus 4 Copyright © 2008 by Nelson Education Ltd.
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Multiplying by 10

Multiply 10 x 16.

Name

B R R R B R R SR A BB Ea @

. - 1% 16 = 16 :
Think: 1 x 16 = lf;ﬁ,“so oo o e e e P PR
10 x 16 = |50 o R R A R R R B R R B B R B AR AE R
P B R AR B R AR A AR R F R R R AR
Rl o s SR e e e s R R SR R e a5,
Rlezzlse 5 =3[se é-zz- :-35;;:- 5 ;;»zz- .
: ool R e A5 oz A AR R Ao 24
when you mu]'l’lpiy ble, = z-‘:;z. s &3:&5‘32': ¥ :.3 il .zz' :eg
think of multiplying by I. Rised|ee|seelseclser]serisz|ser]sae ses|shelsae ae s 553
Then write a 0. S R A R B R R E PR R AR AR R
B sl o s e e e e R Rl R R
10 x 16 = 160
Complete each sentence. %
1. Since | know 2_3 X 1= __} P2 Since lknow45 x 1 = ______
| also know 23 x 10 = _‘U_ i lalsoknow 45 x 10 = __
3. Sincelknow98 x 1 = 4. Since lknow 1 x 36 = , (‘I
lalsoknow98 x 10 = | | also know 10 x 36 =
5. Sincelknow 60 x 1 = -, 6. Since l know 1 x 72 = ,
lalso know 60 x 10 = | j | also know 10 x 72 =
Multiply these pairs of factors.
785 x 1 = 8. 38 X1 =___ 9. 872 X 1 = ___
85 x 10 = _____ 3Bx10=___ 572 x 10 =
10. 1 X443 = _ 1" 20x1=_____ 1221 X 76 =
10 X 443 = 20 x 10 = 10 x76 =____
Multiply.
13. 10x35 =__ 14. 69 X 10 = 15. 546 X 10 = ____
&
6. 41 x 10 = 17. 10 X 768 = 18. 10 x 80 =

24 Reteaching
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o Name: Date:

9.2 Multiplying 10s and 100s Page 1

Student Book pages 312-313

‘ Use patterns to multiply 10s and 100s. )

Problem
Diane is making safety pin necklaces.

You will need

"wows LNy

She uses 100 beads and 10 safety pins to make
each necklace.

Step 1: Use base ten blocks to model the number of beads in each necklace.
There are 100 beads in each necklace.
Use 5 hundreds blocks to show the beads.

These blocks show 5 x 100.

g p—— L ]

Count by 100s to find out how many beads are needed for the 5 necklaces.
100, 200,
Diane needs beads.

Step 2: Use base ten blocks to model the number of pins in each necklace.
There are 10 pins in each necklace.
Use 5 tens blocks to show the pins.

Count by 10s to find out how many pins are needed for the 5 necklaces.
10, 20,
Diane needs pins.

Copyright © 2008 by Nelson Education Ltd, Learning BLM 9.2: Multiplying 105 and 1005 | 357 |
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o Name:

9.2 Multiplying 10s and 100s Page 2

Step 3: You can use tables to organize your information and look for patterns.

Complete the tables below for up to 5 necklaces.

(358 | Learning BLM 9.2: Multiplying 10s and 1005

/“Number of Number oh
necklaces beads
1 1 X 1 hundred = 1 hundred 100
2 2 X 1 hundred = 2 hundreds 200
3
Y
\__ 5 500
/”Number of Number of \
necklaces pins
1 1 X 1ten = 1ten 10
2 2 X 1ten =2tens 20 _,‘3
3 =
4
5 50 -/
_Reflecting
What patterns do you see in your fables? )
\. J
&

Copyright © 2008 by Nelson Education Ltd.



P PRACTICE PAGE #12

Name:; Date:

WORD PROBLEM

Tanvi was selling boxes of candy. Each box had 6 pieces of candy in it.
The first week she sold 10 boxes. The second week she visited an apartment building
where she sold 100 boxes. How many pieces of candy did she sell in all?

BASICS BOX PRACTICE

: Find the products.
There are place-value

patterns in multiplication . 5x10=
that can help you multiply
by 10s, 100s, or even 2. 5%100 =
1,000s. This is great for _
saving time by using :5 3. 5x1000-<
mental math. é ' '
1. Begin by finding the 4. 10x3=
simple fact in the larger
problem. Thisis 6 x 1, . 5. 10x30=
€ ) which is 6. 5
- 6. 10x 300 =
i1 § : 2 Countthe Osin the
E" problem. In this case, _
‘ E there is one. This lets 26 300 x 4 =
; E us know there will be 5
; '%é’ one 0 in the product. 8. 50x4=
EE' 3. Write 6 with one 0 9. 40x50=
L 2 behind it to get the :
1 £ product of 60. Repeat 10. 2x20=
1 the same three steps 5'
o for the second part to
q —
i § get a product of 600. 1. 2x200 =
Q
| :
.§ In Tanvi’s problem, we 12, 20x 20 =
j‘§ have to multiply 6 x 10
_éf for the first week, which :
§ is 60. The second week is JOURNAL
£ . 6x100=600. Add 600 - How can multiplication patterns help you solve a problem
¢ and 60 to see that she - like 16 x 1007

sold 660 pieces of candy.

75




Name;

Multiplication Patterns

Find the products.

1. 10x8= 6. 400x40=

2. 10x80= 7. 1x400=

3, 100x8= 8. 40x40-=

4, 1000x8= 9. 9x10=

5. 4x40= 10. 90 x 10 =
Review.

16. What strategy could be used to solve 8 x 6? Explain.

Date:

11.

12,

13.

14.

15.

9x20=

90 x 20 =

900 x 20 =

20x 50 =

200 x 50 =

17. What property of multiplication tells us that if 3 x 9 = 27 then 9 x 3 = 27?

18. Give an example of a fact for the Half-Then-Double strategy.

Reteaching Math: Multiplication & Division €& 2008 by Bob Krech, Scholastic Teaching Resources
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O

100x7 =
9x10 =
8x1000 =
10x5 =
6x100 =
12x100 =

0)
@
€)
@
®
®

“ When you multiply a number by 10, just add
| 1zero to the number. Add 2 zeros when you |

| multiply it by 100, and 3 zeros when you multiply

|

| it by IOOO

® 1000x2
1000 =
® 1000x15

@ 3x

EP rames

® 2x20 =2x2x10

@ 300x4 =100x3x4

=4 x10 =100x12
=40 =1200
Find the products.
4
3x80 = @ 50x4 =
® 4x600 = ® 2x3000 =
@ 400x3 = ® 2000x4 =
® 400x7 = ® 2x5000 =
® 9x20 = ® 5x400 =
@ 8x70 = @ 90x5 =
@ 60x6 = @ 700x9 =
@ 200x8 = @ 4000x2 =
® 500x6 = @ 40x7 =__
@ 3000x9 = @ 900x4 =




o - S —— mree Tt —m - e e e T L

. Solve the problems. = Strnote.

® Daniel and Michelle went apple-picking. They filled 7 baskets with
275 apples each. How many apples did they pick?

300 x71= 2100 @i1s .
R
Mosout Qico opples 0 | o

® Julian’s school bus can carry 55 students each time. The bus is filled 6
times a day. How many students have been on the bus in one day?

@® The bleachers of Julian’s school have 5 sections. Each section can seat
125 people . How many people can sit in the bleachers?

® Amanda has 7 boxes of cookies for sale in a fundraising event. Each
box contains 24 packages of cookies. How many packages of cookies
will Amanda have to seli?

E—

What number am I?

I'm a 2-digit number smaller than 50, When I'm muitiplied by 7, g
the product Is greater than 200. The sum of my digits is 5.

You are




o Name: Date:

9.3 Multiplying Using Arrays Page 1

("‘Sludam Book pages 314-317 @

You will need
Use arrays io visualize easier ways to multiply. ) ’

grid paper e
A ]_h 1‘.‘,3
P
Problem r
Alec has a game board that has 4 rows of 12 spaces. * pencil ﬁ'
crayons J

@ How can you calculate the number of spaces on
Alec’s 4-by-12 game board?

Step 1: The game board has U rows of 12 spaces.
Skeich it on grid paper.

Step 2: 4 X 12 tells the number of spaces.

You already know 4 X 10 =

You also know that 4 X 2 =

Split the Y-by-12 array into a Y-by-10 array and a Y-by-2 array.
Colour and label both arrays as shown below.

Y rows of 10 Y rows of 2
o e —

'\-J; @

[ 362 | Learning BLM 9.3: Multiplying Using Arrays Copyright © 2008 by Nelson Education Ltd.



o Name: Date:

9.3 Multiplying Using Arrays Page 2
) &,
Step 3: YUrowsof 10 =4 X 10 N
Yrowsof 2 =4 X 2
Used X 10 + 4 X 2 to calcuiate 4 X 12.
YXx12=4X%X10+Y4x2
4x12 = +
4xi2 =
So, there are spaces on Alec’s game board.

Reflecting .

How does splitting an array into smaller arrays help you to multiply?

What other ways can you spiit the Y4-by-12 array to calculate 4 x 1272

@ @

Copyright © 2008 by Nelson Education Ltd. Learning BLM 9.3: Multiplying Using Armays | 363 |
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9.3 Multiplying Using Arrays Page 1
J/ﬁ?'udem Book pages 314-317 %
' You will need:
Use arrays fo visualize easier ways to multiply. j * 9rid paper H

= ~t—

Checking O
* pencil —cam———— =
crayons
L.

1. a) Complete the number sentence to show how the 5-by-14

array is shaded.

ﬂ Look at the light grey part of the array. e
““ How many rows are there in all?

How many light grey squares are in each row?
There are 5 X squares in the light grey part of the array.

Look at the dark grey part of the array.

How many rows are there in all?

How many dark grey squares are in each row?

There are 5 X squares in the dark grey part of the array.

The 5-by-14 array combines the 2 smalier arrays.
Complete the number sentence below.
S X 14 =5 X +5X

b) Complete the number sentences to calculate 5 X 14,

Cn 5 X 14=5X + 5 X @
W  5x 4= +
5% 14 =

| 360 | Checking & Practising BLM 9.3: Mulsiplying Using Arrays Copyright © 2008 by Nelson Education Ltd.




@ Name: Date:

9.3 Multiplying Using Arrays Page 2

D

Practising

3. Look at the different shades in the arrays below.
Complete the number sentences.

a)

6X12=6X10+ 6 X
6X12= a5
6X12 =

@ [T

7X11= X + X
7X 11 = +
7X11=

9. Sketch arrays on grid paper to show that each statement is true.
a)5x23=5x20+5x%X3
b)5xXx23=5X10+5X10+5X3

e C)5X23=5X7+5X7+5X7+5X2

B ";"_ﬁ

Copyright © 2008 by Nelson Education Ltd. Checking & Practising BLM 9.3: Mulsiplying Using Arrays | 361 |



Scaffolding for Lesson 3, Questions 4 & 5 .

m STUDENT BOOK PAGE 316

4. Jiri planted 7 rows of 18 trees. How many trees did he plant?

‘i Name: Date:
\i'

There are rows with trees in each.
3 So, there are X trees in all.
I
|E | can model this problem with an array that has rows and columns.

Draw the array on this grid.

l f‘% Find and colour 2 smaller arrays inside the array.
&= Find the products of the 2 smaller arrays and add them together.
7X18=7X +7 X
7X18 = +
7X18 = ____
Jiri planted trees.
5. Complete.
a)6XxX21=6xX20+6x1 C)5X32=5%X30+5Xx
i 6XxX21=. + 5 X3 =_ +
Bx21=____ 5X32=____
b) 4 X16=4X8+4x8 d) 5X28 =5x% + 5 X
4 X 16 = + 5Xx28 = +
4xX16=___ 5X28=___
_.J}

Copyright © 2008 by Thomson Nelson
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Name: Date:

Multiplying Using Arrays P
Py 217 -8

Use arrays to visualize easier ways to multiply. ]

1. Fill in the blanks. At-Home Help
a) |- T R - You can use an array to help

BHRaAE you multiply. For example:
3x14=3X 10+ 3 X | want to calculate 8 X 12.
. ¢ | already know that 8 X 10 = 80.
3X14= + 1 0 0 1 A
3x14= BESanEsas
.‘"ff-"',':f,‘ii
b) 1E E E E G B F B IRBEA NS
] =1 | % —
e ot o 1 e 8 rows of 10 8 rows of 2
FEEE ::-71[-' 8 x 10=80 8><2=16f,..,_
E =31 o Y
8x12=8x10+8x2
6X17=6x 10+ 6 X A AL
8X12=96
6 X 17 = + . _
6xX17 =
2. Sketch arrays to help you multiply.
a) 5x13= b) 7x15 = ) 2X17 =
3. Sketch an array to show that this statement is true.
4xX26=4X20+4X6
iR
L
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o Name:

9.4 Modelling Multiplication page 1

Student Book pages 318-321

1 Modelling multiplication as equal groups.

Problem
Annie is making 54 leather bags.
She sews 3 designs on each bag.

How many designs will Annie sew?

Use expanded form to calculate.
5 tens + 4 ones
X 3

Step1: 5fens X 3 =
Step2: Yones X 3 =
Step 3: 15 tens =

Step 4: 12 ones =

Step 5: 15tens = (see Step 3)
+ 12 ones = (see Step 4)
Total =
Annie sewed designs.

Copyright © 2008 hy Nelson Education Lid.
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9.4 Modelling Multiplication Page 2

-

_Reflecting

How does grouping tens and ones help you with multiplication?

| 368 | Learning BLM 9.4: Modelling Multiplication
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@ Name: Date:

9.4 Multiplying Using Expanded Form Poge 1

{f\‘ Student Book pages 318-321

You will need

i iai - : * base ten it
Multiply 2-digit numbers by 1-digit numbers using
expanded form. Lo i .

* a place B i g

Checking value chart

— -—_T-u----"*'ﬂJ

2. Sam serves Y trays of salmon.
Each tray holds 32 pieces.
How many pieces of salmon does Sam serve?

Follow these steps to calculate 4 x 32.

Step 1: Expand
32 is tens + 2 ones

Step 2: Multiply
4 X 32is groups of 32.
Model 4 groups of 32 with base ten blocks on the place value chart.

Step 3: Add
32 is 3 tens + 2 ones

X Y x Y
tens
+ ones
Sam served pieces of salmon.

F.
{
o

Copyright © 2008 by Nelson Education Ltd, Checking & Practising BLM 9.4: Mulriplying Using Fxpanded Form I'365 |




@ Name: Date:

9.4 Multiplying Using Expanded Form Page 2

Practising
5. Alasie made a bracelet with 6 rows of 64 beads.

a) How did Alasie know she would need more than 350 beads?
Hint: She can estimate.
She can use a number close to 64 that is easy to multiply.
For example, is close o 64,
Since 6 X = , she knows she needs more than 350 beads.

b) How many beads did she use altogether?
Hint: Use base ten blocks to model this problem.

___ tens
+ ____ones 4
X &
_tens
+ ____ones
Alasie used beads altogether.

\

| 366 | Checking & Practising BLM 9.4: Multiplying Using Expanded Form Copyright © 2008 by Nelson Education Ltd.



jve the problems. Show your work.

Mom bought 4 boxes of chocolate for May's
. birthday party. There were 36 chocolates in each
box. How many chocolates did Mom buy?

4“’.1,—‘_% 30 x4 =

bxu®
Mom bought _L‘ﬁ chocolates. |

@ There were 24 party hats in a bag. How many
- party hats were there in 3 bags?

AU R 3=

e T Sy

“There was P‘“‘H‘) \r\adrs
Mom bought 2 bags of straws with 98 straws in o+ 6
each bag. How many straws did Mom buy? X 2,
Ted and 4 friends each contributed $18 to buy a O + 3
birthday gift for May. What was the cost of the X U
birthday gift? C |

® May puf42 cookies on aplate. How many cookies L{'o + Y
were there on 4 plates? s 4_

L2 Solve the problem.

Show how you can move the least number of beads to change the shap
of the triangle on the left-hand side to that on the right-hand side.

@0

O@ 00O
00 @@
¢ NoNwilv ©
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Multiplying 2-digit Numbers

1-digit Numbers

B B EXAMPLE
4x23=? Long way: 23 -— align the numbers on the right-hand side
X 4
12 —4x3 =12
80 -—4x20 =80
92 -—12+80=92
L. ]
Short way: 23 2 5‘3} 23
X 4 s X 4 — x 4
i 2 92
t t }
) 4x3=12 9=4x2+1
align the numbers {
the right-hand carry 10 ones to the tens )
0.2 € nght- column; keep 2 ones in the carried over from
side R - the ones column
4x23=92
* To do vertical multiplication the short way:
Multiply the long way.
Align ali the numbers on the right-hand
side.
® -I 2 @ 2 4 Multiply the ones first.
X 4 X 3 Then multiply the tens.
Remember to carry 10 ones to 1ten in the |
B2 tens column. r
-~ 4x1Q Remember to add the tens carried over
from the ones column after muitiplying |
the tens digit. :
e v — — |
@ 32 ® 19 © 3 © 47 |
X 4 X 5 X 6 X 6
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T Name:

PRACTICE PAGE F£13:

Date:

WORD PROBLEM

Ray bought 7 packs of juice boxes for the class picnic.
There were 24 juice boxes in a pack. How many juice boxes did Ray buy?

T BASICS Box. I

There are many methods for multiplying

PRACTICE

Solve each problem using both
methods. Show your work.

numbers with more than one digit. Here are

two that Ray (and you) can use:

. Traditional
24
x7

Multiply ones

X
28

Regroup 2 tens
2
24
x7
8

Mulitiply tens
2

e}

8
2x7=14+2=16

24

x7
168 juice boxes

78

. 36 30+ &

Partial Products x 8 A 8

24 —

x7 ' —_— e —

Multiply ones 1 —

4

X7 e, B R

28

Multiply tens
20

x7 2. 52
140 x 9

Add both products
140
+28

168 juice boxes

JOURNAL

Which multiplication method do you
find easiest to work with? Why?

(304 8)
(& 8)

Reteaching Math: Multiplication & Division © 2008 by Bab Krech, Scholastic Teaching Resources
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Name:

{¢ REVIEW: PAGE # 15

Date:

Multiplication Methods

Find the products. Show your work.

1. 13
x 4
2 25
x 3
3 50
x 7
4 68
x O
Review.
9. 30x50=
10. 300 x50 =

11.

12.

93

40 x 80 =

400 x 800 =

79

£

U



= 1-Digit x 2-Digit Multiplication

; ‘Multiplication:
E One-Digit Numbers Times Two-Digit Numbers

3 Follow the steps for multiplying a one-digit number by a two-digit number using

E regrouping.

-'; Example: Step 1: Multiply the ones. % 4  Step 2: Multiply the tens. g 4
i Regroup. X 7 Addtwotens. x 7
: 8 378

- Directions: Multiply.
F 27 63 52 21 45 786
X 3 X 4 X 5 X 9 X 7 X 2
64 76 93 87 66 38
X 5 X 3 X 6 X 4 X 7 X 2
47 64 51 909
X 8 X 9 X 8 X 3
13 32 25 186
X 7 X 4 X 8 X 7

. The chickens on the Smith farm produce 48
- dozen eggs each day. How many dozen
! ©9gs do they produce in 7 days?

; ©McGraw-Hill Children’s Publishing Everything for Math and Reading Grade 4 @




@ When you multiply ldrge numbers by a 1-digit number,
multiply each digit of the top number by the botiom
number, starfing with the ones place. Regroup if the
product is 10 or above.

179 803 3917 5782
X 4 1 5 x 6

At Pancho’s Restaurant, 310 burritos are sold each year. Pancho’s has been 310
open for 5 years. How many burritos have been sold since Pancho’s opened? x 5

Plane tickets from Miami, Florida, fo Denver, Colorado, cost $522 each. The 4
members of the Wilson fomily are buying fickets from Miami to Denver. How
much will the tickets cosi?

Megan bought 5 large bags of peanuts. There are 210 peanuts in each bag.
How many peanuts does she have in all?

Advonioge Math Grode £ © 2004 Creative Teaching Press



o Name: Date:

9.5 Estimating Products Page 1

Ztudent Book poges 322-324 .
You will need
Develop strategies for estimating. ) * counters *
Problem |

8 soccer teams were playing in a fournament.
There were 9 players on each team.

About how many players were playing in the tournament?

There are different strategies for estimating.

Practise using easier numbers.
There are 8 teams with 9 players.
____ You are trying fo estimate 8 X 9.
{__Daink about easier numbers fo use. @
9 is close to 10.
Think about 8 x 10.
You can count by 10s.
8 X 10 =

Since you changed 9 to 10, there are a few less than players altogether.

Try the strategy again.
What if there were 6 teams with 7 players on each team?
Think about easier numbers to use.
6 is close to 5.
Think about 5 X 7.
You can count by 5s.
5X7=
\ ~_/nce you changed the 6 to 5, there are a few more than players altogether. @

[ 372 ] Learning BLM 9.5: Estimating Products Copyright © 2008 by Nelson Education Ltd.




o Name: Date:

9.5 Estimating Products pPage 2

O P

Use easier numbers to estimate the products.

7TX9=
Change the factto 7 X 10 =
7 X 9 is a little less than

BX 6=
Change the fact to X =
BXéis

11 XY=
Change the fact to X =
11 X Uis

® ...

Change the fact fo X =
9Xébis

Reﬂecﬁng

Was there another way you could have changed 9 x 6? Explain.

@ &

Copyright © 2008 by Nelson Education Ltd. Learning BLM 9.5: Estimating Products | 373 I



@ Name: Date:

9.5 Estimating Products Page 1

(‘ﬁtudem Book pages 322-324 @

‘ Choose when and how to estimate. )

Checking

1. Natasha's school has 2 Grade 5 teams.
Each team has 31 players.
Estimate to answer the following question:
Are there more than 50 Grade 5 players?

I can use a number close to 31, such as 30.
30 + 30 is the same as 30 X
I can multiply X to get an estimate.

)2, How would you estimate each product?

a)9? X Ug

the number closest to U8. 40 50

I would estimate by multiplying 9 X

Explain another way you would estimate 9 X 48.

b)Y x 355

the number closest to 3565. 350 360

I would estimate by multiplying X

Explain another way you would estimate 4 X 355,

\_/

| 370 | Checking & Practising BLM 9.5: Estimating Products Copyright © 2008 by Nelson Education Ltd.




@ Name: Date:

9.5 Estimating Products Page 2

Practising

6. Decide whether you can estimate to answer or if you need to calculate the exact
answer. Then answer.

a) 1 CD can hold 72 minutes of music.
Are 7 CDs enough to burn 500 minutes of music?
I will have to burn my CDs all over again if my estimate is off,
so I will
7X70=
7TX2=
7TX72= minutes

7 CDs enough.

@ b) There are 3 plates with 76 dumplings on each piate.
Are there at ieast 200 dumplings?
I don't need to know the number, so I will

76 is close to , 503 X =

There are 200 dumplings.

c) Jonah has $287 in his bank account.
His brother saved 3 times as much money.
Did his brother save at least $900?
I will because X 3=

Jonah's brother save at least $900 because

Copyright © 2008 by Nelson Education Ltd. Checking & Practising BLM 9,5: Essimating Products | 371 |
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Choose when and how to estimate. ]

1. Estimate each product. Show your work.

a) 5x44 d) 7 X 31
b) 8 X 62 e) 382
c) 9x28 f) 4 xX73

2. Decide whether you can estimate to answer. Then answer.

a) Lang, Ken, and Joshua each have $42. Do they have
enough money to buy a second-hand bike for $150?

b) Each bookcase contains 64 books. There are 4 bookcases.

Are there more than 200 books?

¢) 5 cartons hold 54 juice boxes each. Are there
enough juice boxes for 250 students?

Copyright © 2008 by Nelson Education Ltd. Chapter 8: Multiplying Multi-Digit Numbers
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Estimating Pfoducts Name

Estimate the product of 51 and 62. E
Round each number >

Remember:

Multiply.

to the nearest 10.

if 5x6 = 30

and 5x 60 = 300
then 50 x 60 = 3 000.

62 60 60
x51 =50 X 50
2000

The estimated product is 3000.

Lt b At

s R R T T e o e L, R s

Estimate by rounding to the nearest 10.

1. 78 - 2. 42 — 3. 17 —
X987 = X X28 - x X47 = X
4. 24 - 5. 33 - 6. 18 — \;,
X68 —» X X582 = X X74 - X
7. 77 s. 63 8. 51
X 64 X x 32 X X 37 X
10. 59 1. 42 i2. 53
X 68 X X 39 X . xX47 X
13, 59 14. 67 15. 31
X 48 X x17 X x 84 X

MathQuest 5 TRB For use with MathQuest 5, page 72 Reteaching 25
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9.6 Communicating about Solving Problems Page 1

(-3 Student Book pages 328-329

‘ Explain your thinking when solving a problem. )

Checking

1. For every year a bear lives, it ages about 4 human years.
Carolyn calculated the age of a 19-year-old bear in human years.
1. I made sure I understood the problem.

( A bear this old... .islke ahumonthisold )
1 f
2 8

\_ 3 12 J

2. Imade a plan. I calculated 19 x #.
q 3.1 carried out the plan. 19 x ¥ = 76.
- 1. Ilooked back fo check. 76 looks right because 20 x ¥ = 80, 50 19 x ¥ must be less,

a) What did Carolyn explain well?
Be specific about each step she did.
Hint: Look at Desmond’s comments in the Student Book.

b) What questions would you ask Carolyn to improve her communication?
For example: How did you know 19 X Y4 = 767

Copyright © 2608 by Nelson Education Ltd. Checking d'Pmmh'ng BIM 9.6 Communicating abous Solving Problems | 375_|
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Date:

9.6 Communicating about Solving Problems Page 2

Practising

2. For every year a dog lives, it ages about 7 human years.

How old is a 13-year-old dog in human years?

Step 1: Understand the Problem

I know a 1-year-old dog is in human years.

I have to find out how old a -year-old dog is in human years.

1 can make a table to show what I know.

4 A dog this old... ....is like a human this old )
1 7
2 14
\ 3 21 J
Step 2: Make a Plan
I plan to

Step 3: Carry Out the Plan
This is how I calculated the answer.

I found ou_t

Step 4: Look Back
I know my answer is reasonable because

[376 | Checking & Practising BLM 9.6: Communicating abous Solving Problems
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o Name: Date:

9.6 Communicating about Solving Problems Page 1
Student Book pages 328-329

‘ Explain your thinking when solving a problem. )

Problem
Horses age more quickly than humans.

For every year a horse lives, it ages 3 human years.
Ken wondered how old his 8-year-old horse would be in human years.

How can Ken explain how he solved the probtem?

Understand the Problem
What do you know?

f A horse this old... ...is like @ human this old N
1 3
2 6
3 9
Y
5
K 6

Make a Plan
Multiply to find the answer.
How do you know that you can multiply?

Copyright © 2008 by Nelson Education Ltd. Learning BLM 9.6: Communicating abous Solving Problems [ 377
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9.6 Communicating about Solving Problems Page 2

Carry Out the Plan
What is the age of the horse?

Look Back to Check
Is your answer reasonable?

p Reﬂecfing

How could Ken have explained his plan more clearly?

Look at the Communication Checklist.
Do you think you have given a good explanation fo how you solved the horse problem?

Why or why not? Communication
- Checklist

v’ Did you show the
right amount of
detail?

v Did you explain
your thinking?

[ 378 | Learning BLM 9.6: Communicating about Selving Problems Copyright © 2008 by Nelson Education Ltd.
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@ Name:

Date:

9.6 Communicating about Solving Problems page 1

Student Book pages 328-329

‘ Explain your thinking when solving a problem. )

Checking

1. For every year a bear lives, it ages about 4 human years.

Carolyn calculated the age of a 19-year-old bear in human years.

1. Imade sure T understood the problem.

4 A bear this old... ...is like a human this old \
1 i
2 8 -

\_ 3 12 j

2.1made a plan. I calculated 19 x ¥.
3.1 carried out the plan. 19 x ¥ = 76.

1. Tlooked back fo check. 76 looks right because 20 x ¥ = 80, s0 19 x ¥ must be less.

a) What did Carolyn explain well?

Be specific about each step she did.
Hint: Look at Desmond’s comments in the Student Book.

b) What questions would you ask Carolyn to improve her communication?
For example: How did you know 19 X 4 = 767

Copyright © 2008 by Nelson Education Ltd.
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9.6 Communicating about Solving Problems Page 2

Practising

2. For every year a dog lives, it ages about 7 human years.
How old is a 13-year-old dog in human years?

Step 1: Understand the Problem

I know a 1-year-old dog is in human years.

I have to find out how old a -year-old dog is in human years.
I can make a table to show what I know.

4 A dog this old... ....is like a human this old \
1 7
2 14

\_ 3 21 W

o

Step 2: Make a Plan
I plan to

Step 3: Carry Out the Plan
This is how I calculated the answer.

I found ou_t

Step 4: Look Back
I know my answer is reasonable because

wr

| 376 | Checking & Practising BLM 9.6: Communicating about Selving Problems Copyright © 2008 by Nelson Education Ltd.
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Communicating about
Solving Problems

&+

o -:ﬁl

son/6

Explain your thinking when solving a problem. ]

.

Qles

1. Emily earns $28 each week for doing yard work. At-Home Help

i ?
How much money can she earn in 5 weeks? Follow these steps to help you

communicate about solving
problems:

Step 1 Make sure you
understand the problem.

Step 2 Make a plan.
Step 3 Carry out the plan.

, Step 4 Look back to check.
2. Jade, Cole, Michael, and Hailey each brought ep & Look back to chec

46 brownies to the school bake sale. How many | Communication Checklist

brownies did they bring in total? v Did you show the right
amount of detail?
v Did you explain your

thinking?
\. )

3. Ken earned 72 points on the first day of the summer fair.
If he earns the same number of points each day for 3 days
will he win the prize for 290 points? Explain your solution.

O
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9.7 Multiplying 2-Digit Numbers Page 1

n\SIudent Book pages 330-332

Multiply 2-digit numbers by 1-digit numbers using
expanded form.

Problem

Diane lives near a beach.

She collected 14 shells in 1 week.

She wants to collect the same number of shells each week.

@é How many shells will Diane have in 4 weeks?

There are 4 groups of 14 shells after 4 weeks.
When there are equal groups, you can multiply.

‘ﬁtep1 Estimate first.
U4 x 14 is about 4 X 10 =
[ predict that Diane will have more than shells.

Step 2: Make 4 groups of 14 with base ten blocks.
Record them using the expanded form.

You will need

* base ten

blocks i .

= a place —

| 382 | Learning BLM 9.7: Multiplying 2-Digis Numbers

f Hundreds Tens Ones \
B 2aQn
agoo
} 4 10+y
XY X Y
} aQae
3 Qaoo
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9.7 Multiplying 2-Digit Numbers Poge 2

Step 3: Multiply to show the number of tens first.

14 10 + 4
x4 x 4

40 (number of tens)

4

Step 4: Complete the multiplication.

14 10+ 4
P} X Yy
40 (number of tens)
+ (number of ones)
(total)
Diane will have shells in 4 weeks.

@ Reflecting

Suppose that you multiplied the ones first. Would the product be the same? Explain.

@

Copyright © 2008 by Nelson Education Ltd. Learning BLM 9.7: Mutiplying 2-Digit Numbers | 383 |
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9.7 Multiplying 3-Digit Numbers Page 1
[’ﬁ\‘?}-smdem Book pages 330-332
You will need

* base ten
blocks

Multiply 3-digit numbers by 1-digit numbers using
expanded form.

Checking
1. Model with base ten blocks. Multiply.

a) 300 + 20 + 7 327

is the same as
X 5 X 5

Make § groups of with base ten blocks.
Do not regroup.
Fill in the rest of the question.

. 300+20+7 O
X 5

1500  (number of hundreds)
100  (number of tens)

+ (number of ones)

(total altogether)

b) Model 5 groups of 327 with base ten blocks.
Remember, do not regroup.

327
X 5
35 (number of ones)
(number of tens)
+ (number of hundreds)

(total altogether)

-

| 380 | Checking & Practising BLM 9.7: Multiplying 3-Digit Numbers Copyright © 2008 by Nelson Education Ltd.
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@ Name:

Date:

9.7 Multiplying 3-Digit Numbers Page 2

Practising

7. Estimate, then calculate.

a)3 X 986
986 is close to 1

986
X 3

b)5 x 181
181 is close to 2
181
x5

c)7 X 332
332 is close to
332
X 7

Copyright © 2008 by Nelson Education Lid,

so I can estimate by multiplying 3 X =

(number of hundreds)
(number of tens)
(number of ones)
(total altogether)

so I can estimate by multiplying 5 X =

so I can estimate by multiplying 7 X =

Checking & Practising BLM 9.7 Multiplying 3-Digit Numbers | 381 |
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-

Scaffoldingj for Lesson 7, Question 5
_\,ETUDENT BOOK PAGE 332

5. Calculate. Follow Diane’s Solution from Student Book page 330.

a) 361 300 + 60 + 1
X 7 X 7
+ + _
b) 421 400 + 20 + 1
X 4 X 4
”“ + +
c) 618 600 + 10 + 8
X 3 X 3
+ +
d) 333 300 + 30 + 3
X 6 X 6
+ +
)
Ly

| | 74 | Chavter 9: Multiplying Multi-Digit Numbers Copyright © 2008 by Thomson Nelson
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Name: Date:

b Multiplying 3-Digit Numbers )

T

r

Multiply 3-digit numbers by 1-digit numbers
using expanded form.

1. Multiply. At-Home Help
a) 3X242 = b) 2 X 567 = You can use expanded form to

multiply 3-digit numbers by
200 + 40 :; ; 500 + 60 : ; 1-digit numbers. For example:

I want to know 4 X 32;1.
| know that 321 is the same as
300 4+ 20 4+ 1,
I will multiply each part
separately by 4.
2. Multiply. 300 + 20 + 1
a) 2X122 ¢ 3Xx254  e) 4x197 ———%Og*
80
___ +4
1284
4 X 321 = 1284

b) 5X 316 d) 6 X 624 f) 2x472

3. Estimate to check your answer for each part of Question 2.
a) <) e)
b) d) f)

Copyright © 2008 by Nelson Education Ltd. Chapter 9: Multiplying Multi-Digit Numbers 89



o Name: Date:

9.8 Multiplying Another Way Page 1

ﬁ Student Book pages 334-337

' Multiply, regrouping as you go. )

Problem
Michael has 56 hockey cards. Pedro has twice as many.

You will need .

* base ten

blocks ‘ @

R, -

) How many cards does Pedro have?

Twice as many means 2 times as many.
Multiply 56 cards by 2.

Step 1: Estimate 2 X 56 first.
I know that 2 X 50 =
So Pedro has more than cards.

@*I Step 2: Multiply by making 2 groups of 56.
® Use base 10 blocks.

/ Hundreds Tens Ones \ 2% Bb=__

T

K | )

Step 3: There are 2 X 6 ones.

2X6=12
Regroup 12 ones as 1 ten, 2 ones.
/ Hundreds Tens Ones \ 2% 5=
"r E aoaQQg 3
~ i y
2\ TANAC @agagoon X 2
- Hl )T

Copyright © 2008 by Nelson Education Ltd. Learning BLM 9.8: Multiplying Another Way [ 387 |
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9.8 Multiplying Another Way Page 2

Step 4: There are 2 X 5 tens + 1 ten.
There are 11 tens.
Regroup 11 tens as 1 hundred, 1 ten.

/ Hundreds Tens Ones \ 9 % 56 =
[y mwwrmres —
i . 11

U H B B ¢ 5 6
i o
!] RAAA Q X 2
HHHHA 12

Step 5: Add.

100+ 10+ 2 =

2 X 56 =

So, Pedro has cards.

_Reflecting

How did using the place value chart help you to multiply 2-digit numbers?

| 388 | Learning BEM 9.8: Multiplying Another Way Copyright © 2008 by Nelson Education Ltd.
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9.8 Multiplying Another Way Page 1

f’\_ Student Book pages 334337

You will need
* base te ]
‘ Multiply, regrouping as you go. ) blocks " imi .
~ .‘.;.

value chart

]
]

N

1. Follow these steps to calculate.
a)7 X 62

Step 1: Multiply by making 7 groups of 62 using base ten blocks.
Sketch the groups on a place value chart.

How many ones?

Regroup the ones as tens ones.

How many tens?
o~ Regroup the tens as hundreds tens.
" How many hundreds?

Step 2: Count all the blocks together.
There are hundreds tens ones.
7 X 62 =

b)7 X 145

Step 1: Multiply by making 7 groups of 145 using base ten blocks.
Sketch the groups on a place value chart.

How many ones?

Regroup the ones as tens ones.

How many tens?

Regroup the tens as hundreds tens.
ﬁ How many hundreds?
b
Regroup the hundreds as thousand hundreds.

Copyright © 2008 by Nelson Education Ltd. Checking & Practising BLM 9.8: Multiplying Another Way [ 385 |
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9.8 Multiplying Another Way Page 2

Step 2: Count all the blocks together.
There are thousands hundreds

tens ones.

7 X145 =

Practising

5. Write the muliiplication equation for this model.

Thousands Hundreds Tens | Ones\
——— T A A noo
T e B .
k) (EEE [ 1” nen
= .:f: I -,‘ !‘ mlh .
. I_" E omn
- F | ooo
O

\-
the groups.

How many are there?
How much do the blocks in 1 group equal?
Use your answers fo write the multiplication equation.

X

Count the blocks.

Regroup if you need to.

There are thousands hundreds __ _
The product is |

| 386 | Checking & Practising BLM 9.8: Mulsiplying Another Way

___tens ones.

U
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scaffolding for Lesson 8, Question 7
) TUDENT BOOK PAGE 337

7. Multiply. Follow Michael’s Ca'llculations from Student Book page 334-335.

o Step1 Estimate 4 X 305is about4 X ____.
e Step 2 Multiply by making —___ groups of ____.

Sketch the groups on a place value chart.

Thousands Hundreds Tens Ones

i

e Step 3 Multiply the ones. Regroup if you need to.
» Step 4 Multiply the tens. Regroup if you need {o.
e Step 5 Multiply the hundreds. Regroup if you need to.

r c) d) -

Blackline Maseers | 75 |

i
il



X *‘ Name: Date:

' Multiplying Another Way S

r

Multiply, regrouping as you go. j
1. Multiply by regrouping. At-Home Help
a) 43 d 243 g) 492 | Youcan multiply by
X5 X5 X3 regrouping. For example:

| want to know 3 X 384.
As | multiply, | wilt regroup

b) 152 e) 548 h) 129 ones, tens, and hundreds.
21
X4 X2 X5 3184
X 3
1152
c) 461 f) 617 ) 257 |3x384=1152 J =
X6 X7 X2 )

2. a) What multiplication equation
does this model show?

Thousands Hundreds Tens Ones

| NN N
TS

M

b) Caiculate the product.

@

90 Nelson Math Focus 4 Copyright © 2008 by Nelson £ducation Ltd.
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ar

| scaffolding for Lesson 8, Question 7
b N\TUDENT BOOK PAGE 337

7. Multiply. Follow Michael’s Ca?lculations from Student Book page 334-335.

a)

e Step1 Estimate 4 X 305 is about 4 X 05 =500

_ A
e Step2 Multiply by making A groups of _ 30O
Sketch the groups on a place value chart. 4
Thousands | _Hundreds Tens Ones () ’
- _ ingatla 1 _l |
[T Boo o
QR0 e ) 6-
e CEEEE /24,5&/
| e e A
: e Step 3 Multiply the ones. Regroup if you need to.
j * Step 4 Multiply the tens. Regroup if you need to.
e Step 5 Multiply the hundreds. Regroup if you need to.
b) c) d)
3 15 | 1 +3
21610 21913 1219
X 5 X 8 X 4
113l@l0 171518 RivARNIS
v’
i
}
Copyright © 2008 by Thomson Nelson ' Blackline Masters | 75 | 2
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Multiplying Another Way M

Multiply, regrouping as you go. j
1. Multipljy by regrouping. At-Home Help:
a) f4 3 d 243 g) 492 | Youcan multiply by
X5 X5 X3 regrouping. For example:

I want to know 3 X 384.
As | multiply, | will regroup

P — ——

b) 152 e) 548 h) 129 ones, tens, and hundreds.
21
X4 X2 X5 384
X3
1152
c) 461 f) 617 )| 257 3 X 384 = 1152 y )
X6 X7 X2

2, a) What multiplication equation
does this model show?

( Thousands Hundreds Tens Ones
| AN .
- - [l

b) Calculate the product.

S

80 Nelson Math Focus 4 Copyright © 2008 by Nelsan Education Ltd.




o Name: Date:

9.9 Choosing a Method for Multiplying Page 1

‘/iludent Book pages 338-340

You will need

* base ten r
Choose whether to estimate or calculate, and explain blocks i .
your multiplication method.

Problem

Sometimes you can find an answer using estimation.
Sometimes you can solve a problem using mental math.
Sometimes you need materials to solve a problem.

@ How can you solve each problem?

1. You and your friend are buying 2 bottles of water.
1 bottle of water costs $1.25.
You want to make sure you have enough money to buy 2 bottles.

A

Would you estimate or calculate the cost of 2 bottles?
Explain or show what you would do.

2. There are 45 pencils in a box.
You want to know if there are more than 150 pencils in 3 boxes.
Would you estimate or calculaie the number of pencils?
Explain or show what you would do.

[ 392 | Learning BLM 9.9: Choosing a Meshad for Multiplying Copyright © 2008 by Nefson Education Ltd.
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9.9 Choosing a Method for Multiplying Page 2
. 3. 5 schools are getfting together for a checkers tournament.
Each school is bringing 100 students.
How many students will be at the tournament altogether?
Would you estimate or calculate the number of students?
Explain or show what you would do.

4. The grocery store sells eggs in cartons of 12.
If you buy 3 cartons of eggs, will you have more or less than 30 eggs?
Would you estimate or calculate the number of eggs?
Explain or show what you would do.

_Reflecting

How did you decide when to use mental math? w

How did you decide when to estimate?

Copyright © 2008 by Nelson Education Ltd. Learning BLM 9.9: Choosing a Meshod for Multiplying | 393 |
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9.9 Choosing a Method for Multiplying Page 1

i..-—s.“"i!udent Book pages 338-340
bais You will need |
* base ten .
Choose whether to estimate or calculate, and explain blocks r .
your multiplication method. T, e
* a place S B A
Checking value chart N
1. In 2004:

* 33 babies were born in Saskatchewan every 24 hours
* 44 babies were born in Alberta every 10 hours
Would you estimate or calculate fo find the following answers? Why?

a) How many Saskatchewan babies were born in 5 days?
I need to find out the exact answer so I would

'}

#m, b)Were more than 1000 babies born in Alberta each month? @
' I would because

2. How would you calculate in each situation?
Hint: Choose mental maih, expanded form, or base ten blocks.

a) the number of Saskatchewan babies born in 6 days
1 day = 33 babies, so 6 days = X

I would

b) the number of Alberta babies born in 90 hours
10 hours = 44 babies, so 90 hours = X

I would

O
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9.9 Choosing a Method for Multiplying Page 2

Practising
3. Would you answer each question using mental math or base ten blocks?

a) There are 250 sheets in 1 pack of paper.
Are there more than 500 sheets in 3 packs?
1 pack = 250
3 packs = X 250
I would because

b) How many days are there in 2 years?
1 year = 365 days
2 years = X 365
o I'would because {

¢) Aaron has 3 times as much money as Raven. Raven has $127.
Raven = $127
Aaron = X 127

I would because

6. Alana earns $9 an hour babysitting. Which could you answer by estimating?
A: the amount Alana earns in 10 hours
B: the amount Alana eamns in 15 hours
C: the number of hours needed to earn $90
D: about how long it would take Alana to earn $250

@ I could estimate letter because

Copyright © 2008 by Nelson Education Ltd. Checking & Pracsising BLM 9.9: Choosing a Method for Multiplying [ 301 |



| Name: Date:
thepters s  Choosing a Method for
son ' Multiplying

iy
il

Choose whether to estimate or calculate, and
explain your multiplication method.

1. Jade can string 76 beads every hour. Which At-Home Help
question could you answer by estimating? H

ere are 3 methods you can
A. How many beads can Jade string in 10 hours? | use to solve multiplication
- L. problems:
B. How many beads can Jade string in 12 hours? | . actimate :
Would Jade use more than 200 bead:s in * calculate using mental math
2 * calculate using materials
3 hours? y

D. How many hours would it take for Jade to use 380 beads?

2. How would you answer each question: by estimating,
& using mental math, or using base ten blocks?

a) A skateboard costs $325. )
Can you buy 2 skateboards for $600? 'Q.S'\'\ W\O\Jﬂ N 5

b) Joshua earned 279 points at the school fair.
Diane earned 3 times as many points.

How many points did Diane earn? \30.9( I Q L:)[O dCS-

c) Aneela can type 42 words in a minute.

How many words can she type in 5 minutes? w\ Or\'Jl‘D‘Q MQ:H’W

3. Matt and Hailey want to solve this problem:

A box of crayons holds 54 crayons. About how many crayons are in 9 boxes?

Matt says, “I will use mental math to solve the problem.
9 X 50 = 450, and 9 X 4 = 36. The answer is 450 + 36 = 486."

Hailey says, "I will estimate to solve the problem. 9 is close to 10.
10 X 54 = 540, so the answer is about 540.”

Can both answers be correct? Explain your answer. Eé_eg " 1%\’\&_‘0&
O QASWRS ol A St bt Cau e ond (S an
2ppo b 68 _oc eShm e HA o~ is
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¥  solve the problems. Show your work.

¥
Tat

A

i

' <4 Eé A bag of potato chips weighs 225 g. What is the |
. total weight of 4 bags of potato chips?

The total weight of 4 bags of potafo éhips is
Qoo .

® A box of sugar contains 125 packets. How many
packets are there in 6 boxes?

750w eath

-

® The capacity of one can of pop is 355 mL. How
many mL of pop are there in 6 cans?

2150 mL

® Ted drinks 1 box of juice each day. If the capacity
of a box of juice is 250 mL, how many mL of juice
does Ted drink in one week?’

7150 e
L

Solve the problem.

Write 2 to 11 in the circles so
that the sum of the numbers at
the centre and the 4 corners of
each rectangle is 27.

o - COMPLETE MATHSMART (GRADE 4) 29
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9.10 Creating Multiplication Problems

Student Book page 341

' Create and solve multiplication problems. )

@ How can you create a story about multiplication?

Step 1: Understand the Problem
What do you have to do?

Step 2: Make a Pian
What is your story going to be about?

What kinds of multiplication problems will be in the story?

What strafegies will you use to find the answer fo these multiplication problems?

Step 3: Carry Out the Plan
Write the pages of your story. Show how you solved the multiplication problems.

Step 4: Look Back
How do you know you made multiplication problems in your book?

Copyright © 2008 by Nelson Education Ltd. Checking & Pracriving BLM 9,10: Creating Multiplication Problems | 395
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9.10 Creating Multiplication Problems

Student Book page 341

. * pencil =
‘ Create and solve mulfiplication problems. ) crayons ﬁ—

Problem
Alec wrote a page for a book about multiplication.

He included a picture and a multiplication story.
He also wrote a multiplication fact.

His story told the answer to the problem.
1x15

- . felly practised piano 15 minutes
@ How can you create a story abouf multiplication? P

a day every day of the week.
That makes 105 minates.
Hint: First think of equal groups of things for a story. an maties S5 mindies

Write the multiplication fact that goes with your story.
Write your story.

o
Y

End your story with the answer to the multiplication problem.

s \

&

N /
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9.10 Creating Multiplication Problems

Student Book page 341

' Create and solve multiplication problems. j

@ How can you create a story about multiplication?

Step 1: Understand the Problem
What do you have to do?

Step 2: Make a Plan
What is your story going to be about?

What kinds of multiplication problems will be in the story?

What strategies will you use to find the answer to these multiplication problems?

Step 3: Carry Out the Plan
Write the pages of your story. Show how you solved the multiplication problems.

Step 4: Look Back
How do you know you made multiplication problems in your book?
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9.10 Creating Multiplication Problems

Student Book page 341

You will need '
. rr * pencil ﬁ.
Create and solve multiplication problems. ) crayons

Problem
Alec wrote a page for a book about multiplication.

He included a picture and a multiplication story.
He also wrote a multiplication fact.

His story told the answer to the problem.
Tx15
Kelly practised piano 15 minutes

ST
@ How can you create a story about multiplication? o doy evrg day of the week

That makes 105 minctes.
Hint: First think of equal groups of things for a story. ot meties 2 mindes

Write the multiplication fact that goes with your story.
Write your story.
End your story with the answer to the multiplication problem. - 3

4 B

N e
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Create and solve multiplication problems.

problems.
a) X 26

Diane made
b) 3%

Ken earns $

Ken earns $
<) X

Jade made

necklaces with

Diane made 26 cookies every day. How many
cookies did she make in

days?

cookies.

every week.

How much does he earn in 3 weeks?

in 3 weeks.

-

Creating Multlpllcatlon
Problems

1. Fill in the blanks to write your own multiplication iR Home Help
Follow these steps to create

your own multiplication
problem.

Step 1 Think of 2 numbers td
multiply {(e.g., 125 x 4).

Step 2 Write a problem using
your 2 numbers (e.g., There
are 125 raisins in a bag. How
many raisins are in 4 bags?).

Step 3 Solve your problem

(e.g., 500 raisins are in 4 bags).
\- Y,

beads

in each necklace. How many beads did Jade use?

Jade used

beads.

2. Write a multiplication problem that uses the numbers
4 and 213. Solve your problem.

92 Nelson Math Focus 4
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Test Yourself o

Circle the correct answer.
1. What is the product? 5 X 300 = [}
A. 1100 B. 1200 C. 1500 D. 1800

2. Which number sentence does this array show?
A. 6 X10=160
B. 6X17=6X10+6X7

C. 7%X12=7%X10+7 X2 ,
D. 10 X 60 = 600

3. What is the expanded form of 8537
A. 800+ 50+ 3 B. 85 + 30 C.8+5+3 D.8X5xX3

4. Matt made 6 models. Each model used 29 small sticks.
About how many small sticks did Matt use?

A. 220 B. 180 C. 120 D. 300

5. Jade used 521 beads for each of 4 necklaces.
How many beads did she use? i

A. 2840 ‘B. 2804 C. 2484 D. 2084

6. Which multiplication equation
does this mode! show?

A.3 X 236 (" Hundreds Tens Ones |
T naoaqa
B. 3 X 136 # EEE enRaa
C. 136 X 2 i EEE g Qo
D. 1 X 266 — g
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<hapter 9 Test Page 1
I

/5'9,
1. What is the missing number? .
a) 400 = _ x 109 b) __ x 70 = 499 ., — X500 = 1500 /3

2. Mika multiplied using this array, 4

DEIDDDDDDDDDDDD '
DDDDDDDDDDDDDD
DDDDDDDEIDDDDDD

LI

L0

i's hi tickets.
3. Patti’s hi hop class has 34 dancers. Each dancer sold 5 raffle \
How maf?y raffle tickets did the dance class sgll altogether? Showd NOW™ Wov K}

4. Would You estimate or caicylate? Why? : [
if you would estimate, explain how,

a) One shelf holds 400 CDs, How many CDs are qrn:S shelves?




P R

BT

Name: //

Chapter 9 Test Page 2
S, Muttipty. Explain your choice of method. (Snowo P
a) 6 X 50 b) 7 X 412 c) 8 X 499

Date: —— %\

cocess W)

d) 3 x 668 /Cf

et

i

%

7. Calculate. US€ Hhe -&Lpandﬁﬂ\ s

6. Derek brushes his teeth 3 times a day. Use regrouping (od Snes\ Sirekyg

How many times does he brush his teeth in 1 year?

2
H: p\{Cm:' Qn STrTeqH

a) 4 X 73 b) 5 X 29 c) 7 % 361 d) 8 X 333

~r\

3. A car is travelling 88 km in 1 hour. How far does the car travel in 8 hours? Swow Yo

WworkK,

9. Ali is fencing off a square field for her goats. Tmusws\ MQAS \ Tens \DWE

Each side of the field is 125 m long.

" \What is the length of the fence?

Uee bag ten L\DeXS o so\ve



